Final Review 1

Each pair of figures is similar. Find the missing side. (MCC8.G.4)

I1D:

Aa /\3 3)(_-_-_ )[p?\
@A) 54 x B) 108 s o
C) 18 D) 9

Answer each question and round your answer to the nearest whole number.

2) A model tree i1s 3 cm tall. If it was built with a
scale of 1 cm : 6 m, then how tall 1s the real

=3

tree?
A) 9m B) I m
@18m D) 2m

Solve each proportion.

y=ry

3)x 3¢ = LA
@{t) = ‘Q U([o
{12.46 B) {9

C) {19.1} D) {9.4]

Find the value of x.

4) )

B iox 4S
(2x+1)) QX“'\ :6'\
51° _____—__‘_,_:—‘ AS 13 | @ 19 - 180
xS O 2 D) 49 i ’f‘*aq :
= g4
XY =+S

()25 B) 37

€1 29 D 31
Simplify. Your answer should contain only positive exponents.
6) 44@‘:‘4 n & 4 Sulb':“r‘ac,l' U( L_‘-l

A) 4 (B4 4*

C) 4’ D) 4° A) 4° B) 1 NoO .

C) = D)) - hﬂ@aﬁw S
~ulkp 42 7 4 Q)P onon

3) (3°)°

3 @ 39

54 4 D) 37
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Find the coordinates of the vertices of each figure after the given transformation.

12) lOldli()ll 180° about the origin ?ﬁ, ) 13) reflection across the y-axis >
M1, -1), M(O 3), P(1, 3)E ( y CA, j) )N(l 3}, M2;=32), ny4 40( lj) (X (j)
(D M-1,1), M0, -3), P(-1 ),A’(- 3, =1) A) U1, -1), N2, 0) /)(4 2)
B)Nl ). M1(=3. 0). P(-3. I)A 1.9 B) N12,2), D14, 4), U(1,
C) NY0, 0), M(-1, 4), P10, 4), 4(2. 2) C) U3, 1), N2, 2), D14, 4
D) M0, 3), P{-1, 3), 4(=3, 1), N(~1, -1) WNI(-2, =2), D=4, -4), U1~1, =3)

14) translation: 1 unit right and 4 units down (' ( M -

N ¥
+?1(:—4JX(4%R ? (’(j}’( Y H)

@W'(él—f%) c;(3—1 )R(l-—-z

B) W12, 0), G(3,2), X3, 1 ).. R (sﬁO)

C) W1-1,-5), G0, -3), X0, —-4), R1(2, -5)

D) w(1,2), G2, 4), X(2, 3), R14. 2)

Write each number in scientific notation.

15) 200 © Yy ons # 0 bt o i}iuma’k Cder docimal

: . toond & F(d(‘w “
(A) 2 x 107 B) 2x 10
€3 2% 10° D) 2% 10"
Write each number in standard notation. Y
+ xponenk > moeve O\QO\m&l r‘@

I&y X 10@ 2 QXPM Z mevt ale,(,lmod \ﬁ‘pk

0.005 B) 0.5
C) 500 D) 0.05

Simplify. Write each answer in scientific notation.

S
17) (2 x 10°)(6.91 x 10°) b s » 18) DIVIDE. (5.1 x 10%+ (3x 10%) * D1V 1de FCQ):FR

e 00d exponentS
( A))1.382 x T P @1 7x 10° B) 17x 10 o SUbHrock Q/M’ts
B) 0.1382 x 10 3.8 X d 0 Edia @) 172107 D) 17 x 10 g 2 02
- move decimel, Chan iy
C) 2.894 x 107 . exponcn_,( ] ot LR
\_
(1.0975 x 10°) + (4.4925x 10°) - pe¥ common exfponen
i : ) : 2 C) >hi oghesA Ly fonent
A) 1.54675x 10° B) 1.54675x 10
C) 5.59x10° D) 5.59x 10°

20) A car travels at a rate of 6 x 10" miles per hour for 1.5 x 10" hours. How far did the car travel? Write

your answer in both standard and scientific notation form. Mo e (bx10 )U S0
> 9x 1197- Stand ard>A00

21) Flora has to make a triangular frame out of three metal bars. The bars are 12, 13, and 25 inches long.

Can she use these bars to make a triangle? Explain your answer. |3 +13 > a5 € not Aroe
Cemember—> 2 shov+ > |ong So no, i¥s Not a A
22) Benny says that he designed a logo by drawing a triangle, rotating it 180°, and then reflecting it

across the y-axis. He says both of the triangles are similar to each other. His sister says the triangles

are actually congruent. Who is right? How do you know? FATRS Sl ster b€ couse +he A
4- woesn + Ao
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Final Review 2 ID: 1
Each pair of figures is similar. Find the missing side. (MCCS8.G.4)

I)
7
70 i)
3
X

A) 50 By 3

C) 500 @ 30
Solve. (MCC8.G.3) Ll Sldes e_qua,l

M .

2) The perimeter of an equilateral triangle is 36 cm. If the triangle is dilated by a scale factor of .75, what is the

length of the side of the new triangle.

= B) 4 12, 2. jot
e g 12 % 1% = Q

Lk
Find the measure of angle b. (MCC8.G.5)

3)

A) 96° B 46°
C) 134° D) 159°

Find the measure of angle b.(MgCS.G.S)

5 \ BV

A) 33° B) 26°
39° D) 31°




11) rotation 90° counterclockwise about the

origin
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: . ation. (MCC8.G.3
Find the coordinates of the vertices of each figure after the given transformation. (M )

J) reflection across the X-axis ()g/ (j) )76,4 - LJ > 6) translation: ]

unit right and 4 units up

W -3, -4), 10, -2), 1(2, -5) 74, -4), C(-1,0), S(0, -3) (Mp >(><+',,5fq)
14 A) 14, -3), V12, 0), 115, 2) A z(-3,0), c0, 4), 81, 1)
- BY 110, 2), 112, 5), ¥{-3 4) B) z(-4, 1), C(-1,5),510,2)
0) (-4, -3), -1, -1), 7{1, —4) c) z(-2,-4), C(1,0), 512, -3)
D) "0, -2), (-2, -5), Y13, —4) D) z{-4,0), (-1, 4), 510, 1)
S] 7) rotation 180° about the origin
‘ J(;t) LT ) Ggd2(% -y
< AL ML =2) P13, -1). 71 =S
( B) P(l ——3) T(S ik A )
(O J(-2 —1, -3), T1-5, -1)

D (-1 2) P( 4 1):, g 8 1,,5)

Simplify. (MCCS.EE.1) | .
: £s Su5+ % P
S )i 1 9) 6 .
1 () 0.00001 B) 100000 A) -30 1/6°
C) 0.00005 D) -50 C) 0.00006 D) -7776

Simplify. Your answer should contain only positive exponents. (MCCS8.EE.1) 1

4 2 | 2 2~L{ -4,
10) 6-6 &b " _5_ & 5
A) 6° B) 6
G) 6 6S @ﬂ B) 1
1
)~ D) 5
5

(a) 5° By 5

i T D)5

Write each number in scientific notation. (MCCS8.EE.3)

k3) O, 000§,16 b Smﬂl‘ ’.H:/S = ey -Q-)’LP

A) 4.16 - 10° B) 4.16-107°

C) 0.416 - 10° @4.16- T8




Write each number in standard notation. (MCCS8.EE.3)

-4
¢MSX 10

A) 85 B) 8.5
C) 850 D) 0.00085

Simplify. Write each answer in scientific notation. (MCCS8.EE.4)

15) (4.4 x 10°)(1.9 x 10%) 16) 225X 107%)+(5.5X 107
68 36 x 10° A) 2.305X 107"

B) 2.316 x 10’ BY 775X 187

C) 2316 x 107 C) I.75%A0°

D) 8.36 x 10° @2.305)( 107

Solve. (MCCS.EE.2)

17) What are the two square roots of 2562

(AD 16, -16

B) 128, -128
() 128 7
D) Only 16 is the square root of 256

Find each missing length to the nearest tenth. (MCC8.G.7)

18) az_l,b 2:

15 C. |22 ‘1’71: C‘/z
7

A d2.7

() 193.2

19)




